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2P + 1 = 2(510510n + 365759) 4+ 1 = 10210201 + 731518 4+ 1 = 10210201 + 731519
0000010210200 20 2003,5,7,11,13,17000000 1000000

731519 = 19 x 38501 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 221009

gbooboobogobooboboobboobooobuooooboon

Q =3657670000
P = 510510n + 365767

2P + 1 =2(510510n 4 365767) + 1 = 1021020n + 731534 + 1 = 1021020n + 731535

0000010210200 20 2003,5,7,11,13,17000000 10000000

731535 =3 x5 x 7 x 6967 x 1

oooO
2P + 1 = 105(9724n + 6967)

goooooboolesbooboOoboOo0oOoOOo0obDOoOobOOoUOobOOobOOoOoOOoOoDOoODOO
good

Q=3657730000
P = 5105100 + 365773

2P + 1 =2(510510n + 365773) + 1 = 10210201 + 731546 + 1 = 1021020n + 731547

0000010210200 20 2003,5,7,11,13,17000000 10000000

731547 = 3 x 3 x 81283 x 1

oooOo
2P + 1 = 3(340340n + 243849)

obooboobooo3obobooooooboboooobobobDoboDobooobUoboooo
goo

Q=3657770000
P = 510510n + 365777

2P 4+ 1 =2(510510n + 365777) + 1 = 1021020n + 731554 + 1 = 1021020n + 731555
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0000010210200 20 2003,5,7,11,13,17000000 10000000

731555 =5 x 11 x 47 x 283 x 1

oooo
2P + 1 = 55(18564n + 13301)

obooboogoos bbb boobobooboobooboboooobOoobOoo
good

Q=3657790000
P = 5105100 + 365779

2P + 1 = 2(510510n + 365779) 4+ 1 = 10210201 + 731558 + 1 = 10210201 + 731559
0000010210200 20 2003,5,7,11,13,17000000 10000000

731559 = 3 x 43 x 53 x 107 x 1

oooo
2P + 1 = 3(340340n + 243853)

gooooooOosooooooooboo0ooobOoobDOooDOoOobDOoUDOoOobDboUODoO
goo

Q=3657910000
P = 510510n + 365791

2P 4+ 1 =2(510510n + 365791) + 1 = 1021020n + 731582 + 1 = 10210201 + 731583
ooo000o10210200 20 2003,5,7,11,13,17000000 10000000

731583 =3 x 3 x 29 x 2803 x 1

oooo
2P + 1 = 3(340340n + 243861)

oooboobooo3oboboooooobobDoooobOobobDobDobooobobobDoo
goo

Q =365797 0000
P = 510510n + 365797

2P 4+ 1 =2(510510n + 365797) + 1 = 1021020n + 731594 + 1 = 1021020n + 731595

0000010210200 20 2003,5,7,11,13,17000000 10000000

731595 =3 x5 x 17 x 19 x 151 x 1

oooo
2P + 1 = 255(4004n + 2869)
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Q=3658010000
P = 510510n + 365801

2P + 1 = 2(510510n + 365801) 4 1 = 10210201 + 731602 + 1 = 10210201 + 731603
0000010210200 20 2003,5,7,11,13,17000000 1000000

731603 = 731603 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 221093

gbooboobooobooboboobboobboooboooboon

Q=13658030000
P = 510510n + 365803

2P 4+ 1 =2(510510n + 365803) + 1 = 1021020n + 731606 + 1 = 1021020n + 731607

0000010210200 20 2003,5,7,11,13,17000000 10000000

731607 = 3 x 23 x 23 x 461 x 1

good
2P + 1 = 3(340340n + 243869)
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Q=365809 0000
P = 510510 + 365809

2P 4+ 1 =2(510510n + 365809) + 1 = 1021020n + 731618 + 1 = 10210201 + 731619

0000010210200 20 2003,5,7,11,13,17000000 10000000

731619 =3 x 3 X3 XT7TXTxTxT79Ix1

oooo
2P + 1 = 21(48620n + 34839)
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good

Q=13658190000
P = 510510n + 365819

2P 4+ 1 =2(510510n + 365819) + 1 = 1021020n + 731638 + 1 = 10210201 + 731639
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731639 = 731639 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 221129
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Q=3658210000
P = 510510n + 365821

2P + 1 = 2(510510n + 365821) 4+ 1 = 10210201 + 731642 + 1 = 10210201 + 731643
0000010210200 20 2003,5,7,11,13,17000000 10000000

731643 =3 x 11 x 22171 x 1

0ooo
2P + 1 = 33(30940n + 22171)

oboobooo3dbooooboooooboboooboooboobooboboooobOoobOoo
good

Q=3658310000
P =510510n + 365831

2P + 1 = 2(510510n + 365831) 4 1 = 10210201 + 731662 + 1 = 10210201 + 731663
0000010210200 20 2003,5,7,11,13,17000000 10000000

731663 = 17 x 193 x 223 x 1

oooo
2P + 1 = 17(60060n + 43039)

oooooooOowwooooooobOobooooOobooooDobDOooDOobDOoboooboOooo
good

Q=365837 0000
P = 510510n + 365837

2P + 1 =2(510510n + 365837) + 1 = 1021020n + 731674 + 1 = 1021020n + 731675

0000010210200 20 2003,5,7,11,13,17000000 10000000

731675 =5 x5 X 7Tx37x 113 x 1

oooo
2P + 1 = 35(29172n + 20905)
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Q=23658390000
P = 510510n + 365839

2P + 1 =2(510510n + 365839) + 1 = 1021020n + 731678 + 1 = 1021020n + 731679

0000010210200 20 2003,5,7,11,13,17000000 10000000

731679 =3 x 13 x 73 x 257 x 1

oooo
2P +1 = 39(26180n + 18761)
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good

Q=13658430000
P = 510510n + 365843

2P 4+ 1 =2(510510n + 365843) + 1 = 10210201 + 731686 + 1 = 1021020n + 731687

0000010210200 20 2003,5,7,11,13,17000000 10000000

731687 =11 x 11 x 6047 x 1

oooo
2P + 1 = 11(92820n + 66517)

goooooboOolnoobooOooob0obOobOoU0ooOU0oOoOoDOobDOoOoDOobDOobDobOoboOobo
good

Q=3658510000
P = 510510n + 365851

2P + 1 = 2(510510n + 365851) 4+ 1 = 10210201 + 731702 + 1 = 10210201 + 731703
0000010210200 20 2003,5,7,11,13,17000000 10000000

731703 = 3 X 7 x 34843 x 1

oooo
2P + 1 = 21(48620n + 34843)
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googd

Q=365810000
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2P + 1 =2(510510n + 365861) + 1 = 1021020n + 731722 + 1 = 1021020n + 731723

0000010210200 20 2003,5,7,11,13,17000000 1000000

731723 =199 x 3677 x 1

o000 10210200000000000000O0

2P 4+ 1 =510510m + 221213
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Q =3658630000
P = 510510n + 365863

2P + 1 = 2(510510n + 365863) 4+ 1 = 10210201 4 731726 + 1 = 10210200 + 731727
0000010210200 20 2003,5,7,11,13,17000000 10000000

731727 =3 x 3 x 3 x41 x 661 x 1

oooo
2P + 1 = 3(340340n + 243909)

gooooooo3soooooooooboooobooboobooDboobboODoobboUOoDboO
goo

Q=3658670000
P = 510510n + 365867

2P + 1 = 2(510510n + 365867) 4+ 1 = 10210201 + 731734 + 1 = 10210201 + 731735
0000010210200 20 2003,5,7,11,13,17000000 10000000

731735 = 5 x 146347 x 1

oooo
2P + 1 = 5(204204n + 146347)
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Q=3658730000
P = 510510 + 365873

2P 4+ 1 =2(510510n + 365873) + 1 = 1021020n + 731746 + 1 = 1021020n + 731747

0000010210200 20 2003,5,7,11,13,17000000 1000000

731747 =19 x 19 x 2027 x 1
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2P 4+ 1 =510510m + 221237
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Q=1365879 0000
P = 5105100 + 365879

2P + 1 = 2(510510n + 365879) 4+ 1 = 10210201 + 731758 4+ 1 = 10210201 + 731759
0000010210200 20 2003,5,7,11,13,17000000 10000000

731759 = 7 x 104537 x 1

oooo
2P + 1 = 7(145860n + 104537)
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Q=3658810000
P = 510510n + 365881

2P + 1 = 2(510510n + 365881) 4+ 1 = 10210201 + 731762 + 1 = 10210201 + 731763
0000010210200 20 2003,5,7,11,13,17000000 10000000

731763 = 3 x 3 x 81307 x 1

ogooo
2P + 1 = 3(340340n + 243921)

g0obOobooo30boboooooobobooDooboobooDoboDobooobOobOoobDOoo
goo

Q =365887 0000
P = 510510n + 365887

2P + 1 =2(510510n 4 365887) + 1 = 1021020n + 731774 + 1 = 1021020n + 731775

0000010210200 20 2003,5,7,11,13,17000000 10000000

731775 =3 x5 x5 x 11 x 887 x 1

oooo
2P +1 = 165(6188n + 4435)

gooooobogoles0oboObbOO0O0ODOOO0ODOO0ODOUODbOObDOOOOOUODOUODOO
good
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Q=365809 0000
P = 5105100 + 365899

2P + 1 = 2(510510n + 365899) + 1 = 10210201 + 731798 + 1 = 10210201 + 731799
0000010210200 20 2003,5,7,11,13,17000000 10000000

731799 =3 x 3 x 17 x 4783 x 1

oooo
2P + 1 = 51(20020n + 14349)

gbooooooslbobooobooooooboooboobooboobobnooobOoobOoo
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Q=23659030000
P = 510510n + 365903

2P + 1 = 2(510510n + 365903) + 1 = 10210201 + 731806 + 1 = 10210201 + 731807
0000010210200 20 2003,5,7,11,13,17000000 1000000

731807 = 731807 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 221297

gboboobooobooboboobboobboobooobooo

Q=1365909 0000
P = 510510n + 365909

2P 4+ 1 =2(510510n + 365909) + 1 = 1021020n + 731818 + 1 = 10210201 + 731819

0000010210200 20 2003,5,7,11,13,17000000 10000000

731819 = 11 x 66529 x 1

oooo
2P + 1 = 11(92820n + 66529)

oobooooobolnoooobooooobobooobooboobUooboboooobOoobOoo
good

Q=3659170000
P = 510510n + 365917

2P 4+ 1 =2(510510n + 365917) + 1 = 1021020n + 731834 + 1 = 1021020n + 731835
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731835 =3 x3x3x3x5Hx13x139x1

oooo
2P + 1 = 195(5236n + 3753)
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good

Q=1365921 0000
P = 510510n + 365921

2P + 1 = 2(510510n + 365921) 4+ 1 = 10210201 + 731842 + 1 = 10210201 + 731843
0000010210200 20 2003,5,7,11,13,17000000 10000000

731843 = 7 x 104549 x 1

oooo
2P + 1 = 7(145860n + 104549)

goooooobogvyooooOoooOoobooOoOOoO0bOo0obDOoOoDOoOobDOUDOOobDbOUODboOO
goo

Q=3659230000
P = 510510n + 365923

2P 4+ 1 =2(510510n + 365923) + 1 = 10210201 + 731846 + 1 = 1021020n + 731847
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

731847 = 3 x 89 x 2741 x 1

oooo
2P + 1 = 3(340340n + 243949)

oobobooo3oboboboooooboboooOobOobobDobDoboooboboobDoo
goo

Q=1365927 0000
P = 5105101 + 365927

2P 4+ 1 =2(510510n + 365927) + 1 = 1021020n + 731854 + 1 = 1021020n + 731855

0000010210200 20 2003,5,7,11,13,17000000 10000000

731855 =5 x 197 x 743 x 1

oooo
2P + 1 = 5(204204n + 146371)
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Q=3659200000
P = 510510n + 365929

2P + 1 =2(510510n + 365929) + 1 = 1021020n + 731858 + 1 = 1021020n + 731859

0000010210200 20 2003,5,7,11,13,17000000 10000000

731859 = 3 x 243953 x 1

good
2P + 1 = 3(340340n + 243953)
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Q=13659330000
P = 510510n + 365933

2P 4+ 1 =2(510510n + 365933) + 1 = 10210201 + 731866 + 1 = 1021020n + 731867

0000010210200 20 2003,5,7,11,13,17000000 10000000

731867 = 17 x 43051 x 1

0ooo
2P + 1 = 17(60060n + 43051)

goooooboOovooooOooOobOobOobOoOoOoUOoOoOoDOobDUoOoDOobDOobOooOboOooog
good

Q=3659410000
P = 510510n + 365941

2P + 1 = 2(510510n + 365941) 4+ 1 = 10210201 + 731882 + 1 = 10210201 + 731883
0000010210200 20 2003,5,7,11,13,17000000 10000000

731883 = 3 x 23 x 10607 x 1

good
2P + 1 = 3(340340n + 243961)

o0obobooo30bobobooooobobDooDooboboboDobDobooobUobDOobDOoo
goo

Q=1365947 0000
P = 5105100 -+ 365947
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2P + 1 =2(510510n 4 365947) + 1 = 1021020n + 731894 + 1 = 1021020n + 731895

0000010210200 20 2003,5,7,11,13,17000000 10000000

731895 =3 x 5 x 59 x 827 x 1

oooo
2P + 1 = 15(68068n + 48793)

obooooooloooobooooooboboooboobo0obooboboooobOoobOoo
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Q=3659510000
P = 510510n + 365951

2P + 1 = 2(510510n + 365951) 4+ 1 = 10210201 + 731902 + 1 = 10210201 + 731903
0000010210200 20 2003,5,7,11,13,17000000 1000000

731903 =43 x 17021 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 221393

goboobooobooboboobboobboobuoooboon

Q=3659570000
P = 510510n + 365957

2P + 1 = 2(510510n + 365957) + 1 = 10210201 + 731914 + 1 = 10210200 + 731915
0000010210200 20 2003,5,7,11,13,17000000 10000000

731915 = 5 x 146383 x 1

oooo
2P + 1 = 5(204204n + 146383)

oboobobooosUOb0obUobOOoOobo0obU0obDOobOobObUOobUObDOobDOobObOobOobDOoDoo
goo

Q=2365969 0000
P = 510510 + 365969

2P 4+ 1 =2(510510n + 365969) + 1 = 1021020n + 731938 + 1 = 10210201 + 731939

0000010210200 20 2003,5,7,11,13,17000000 10000000

731939 =13 x 13 x 61 x 71 x 1
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2P + 1 = 13(78540n + 56303)

00000000130 000000000000000DO00D0OO0DOODODO0OODODOODODOD
good

Q=3659710000
P = 510510n + 365971

2P + 1 = 2(510510n + 365971) + 1 = 10210200 + 731942 + 1 = 10210200 + 731943
0000010210200 20 2003,5,7,11,13,17000000 10000000

731943 =3 x 3 x 3 x 27109 x 1

oooo
2P + 1 = 3(340340n + 243981)

o00obOobooo30b0obooooooboobooOoOobOobobDobDOobooobOobOobDOoo
goo

Q=1365977 0000
P = 5105100 + 365977

2P + 1 = 2(510510n + 365977) + 1 = 10210201 + 731954 + 1 = 10210201 + 731955
0000010210200 20 2003,5,7,11,13,17000000 10000000

731955 =3 x5 X 7x 6971 x 1

oooo
2P + 1 = 105(9724n + 6971)

obooboboobolesoboobooooobooboboboooobooobOobUoboboDoboDOoooo
goog

Q=3659830000
P = 510510 + 365983

2P 4+ 1 =2(510510n + 365983) + 1 = 10210201 + 731966 + 1 = 1021020n + 731967

oo000010210200 20 2003,5,7,11,13,17000000 10000000

731967 = 3 x 243989 x 1

good
2P + 1 = 3(340340n + 243989)

gooooooOo3soUoboooooooboU0OoOoU0bOoUbDOoUobOoUobDbOUbDOoobDboUDoOO
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Q=365987 0000
P = 5105100 + 365987

2P + 1 = 2(510510n + 365987) + 1 = 10210201 4 731974 + 1 = 10210200 + 731975
0000010210200 20 2003,5,7,11,13,17000000 10000000

731975 =5 x5 x19x 23 x 67 x 1

oooo
2P + 1 = 5(204204n + 146395)

gboobobooosOobobobooboboobOoboboobobOobUobDOobDobobOoOobOobDOobDOoo
goo

Q=2365999 0000
P = 510510n + 365999

2P + 1 = 2(510510n + 365999) + 1 = 10210201 + 731998 + 1 = 10210201 + 731999
0000010210200 20 2003,5,7,11,13,17000000 1000000

731999 = 731999 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 221489
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Q=3660010000
P = 510510n + 366001

2P 4+ 1 =2(510510n + 366001) + 1 = 1021020n + 732002 + 1 = 1021020n + 732003

0000010210200 20 2003,5,7,11,13,17000000 10000000

732003 = 3 x 17 x 31 x 463 x 1

oooOo
2P + 1 = 51(20020n + 14353)

obooooooslboboooboooooboboooboo0bo0obooboboooobOoobOoo
good

Q =3660070000
P = 510510n + 366007

2P 4+ 1 =2(510510n + 366007) 4+ 1 = 1021020n + 732014 + 1 = 1021020n + 732015
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732015 =3 x 3 x 5 x 16267 x 1

oooo
2P + 1 = 15(68068n + 48801)
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good

Q=13660110000
P = 510510n + 366011

2P + 1 = 2(510510n + 366011) 4+ 1 = 10210201 + 732022 + 1 = 10210201 + 732023
0000010210200 20 2003,5,7,11,13,17000000 1000000

732023 = 732023 x 1

o000 10210200 0000000000000

2P 4+ 1 =510510m + 221513

gboboobogobooboboobboobbooobuoonooboon

Q =3660130000
P = 510510n + 366013

2P + 1 = 2(510510n + 366013) 4+ 1 = 10210201 4 732026 + 1 = 10210201 + 732027
0000010210200 20 2003,5,7,11,13,17000000 10000000

732027 = 3 x 244009 x 1

oooo
2P + 1 = 3(340340n + 244009)

oooooooo3sboooooooooboooooOoboobooDboobbOODoOOoDbboOoDboO
goo

Q=3660170000
P = 5105101 + 366017

2P 4+ 1 =2(510510n + 366017) + 1 = 1021020n + 732034 + 1 = 10210201 + 732035

0000010210200 20 2003,5,7,11,13,17000000 10000000

732035 = 5 x 146407 x 1

oooo
2P + 1 = 5(204204n + 146407)
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Q=3660190000
P = 510510n + 366019

2P + 1 = 2(510510n + 366019) 4 1 = 10210201 + 732038 + 1 = 10210201 + 732039
0000010210200 20 2003,5,7,11,13,17000000 10000000

732039 =3 x 7 x 11 x 3169 x 1

oooo
2P + 1 = 231(4420n + 3169)
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good

Q=3660290000
P = 5105101 + 366029

2P 4+ 1 = 2(510510n + 366029) + 1 = 10210201 4 732058 + 1 = 1021020n + 732059
0000010210200 20 2003,5,7,11,13,17000000 1000000

732059 = 97 x 7547 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 221549
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Q=3660310000
P = 510510n + 366031

2P 4+ 1 =2(510510n + 366031) + 1 = 1021020n + 732062 + 1 = 10210201 + 732063

0000010210200 20 2003,5,7,11,13,17000000 10000000

732063 = 3 x 244021 x 1

oooo
2P + 1 = 3(340340n + 244021)
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Q=13660430000
P = 510510n + 366043

2P + 1 =2(510510n + 366043) + 1 = 10210201 + 732086 + 1 = 1021020n + 732087
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732087 = 3 x 3 x 81343 x 1

oooo
2P + 1 = 3(340340n + 244029)
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Q=3660490000
P = 5105101 + 366049

2P 4+ 1 = 2(510510n + 366049) 4+ 1 = 10210201 4 732098 + 1 = 1021020n + 732099
0000010210200 20 2003,5,7,11,13,17000000 10000000

732099 = 3 x 244033 x 1

oooo
2P + 1 = 3(340340n + 244033)

ooboobooo3oboboboooooboboooOobobobDobDobooobOobOobDoo
goo

Q =3660530000
P = 510510n + 366053

2P + 1 = 2(510510n + 366053) 4+ 1 = 10210201 + 732106 + 1 = 10210201 + 732107
0000010210200 20 2003,5,7,11,13,17000000 1000000
732107 = 313 x 2339 x 1
0000 10210200000000000000
2P + 1 = 510510m + 221597
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Q=3660590000
P = 510510n + 366059

2P 4+ 1 =2(510510n + 366059) + 1 = 1021020n + 732118 + 1 = 1021020n + 732119

0000010210200 20 2003,5,7,11,13,17000000 1000000

732119 = 37 x 47 x 421 x 1

OO000 10210200 000000000000

2P 4+ 1 =510510m + 221609
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